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AD–4117

B.A. Part—I (Semester—II) (CBCS) Examination

(Optional Subject)

HISTORY

History of India from Early on 701 AD to 1525 AD

Time : Three Hours] [Maximum Marks : 80

Note :— (1) All questions are compulsory.

(2) Answers to 12 marks long essay questions should be in up to about 600 words.

(3) Answers to 3 marks short essay questions should be in up to about 150 words.

1. Choose the correct option of the following questions :

(1) In which year was the Sultanate established in India ?

(a) 701 AD (b) 1206 AD

(c) 1525 AD (d) 1320 AD

(2) Who was the leader of the Arabs who invaded the province of Sindh ?

(a) Muhammad Binkasim (b) Muhammad Ghazni

(c) Muhammad Ghori (d) Muhammad Gawan

(3) Albaruni, a traveller came to India with someone :

(a) Qutubuddin Aibak (b) Muhammad Ghori

(c) Muhammad Ghazni (d) None of these

(4) Who was defeated in the First Battle of Tarain in 1191 AD ?

(a) Muhammad Ghori (b) Qutubuddin Aibak

(c) Balban (d) Razia Sultan

(5) Who was the Sultan who completed the construction of Qutub Minar ?

(a) Balban (b) Muhammad Ghazni

(c) Muhammad Ghori (d) Altamas

(6) Who was the first Muslim woman ruler in medieval India ?

(a) Razia Sultan (b) Noor Jahan

(c) Chand Bibi (d) None of these

(7) Who founded the Khilji Empire ?

(a) Allauddin Khilji (b) Jalaluddin Khilji

(c) Ferozshah Tughlaq (d) Balban
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(8) Which Sultan implemented the policy of market price control ?

(a) Muhammad Tughlaq (b) Ferozshah Tughlaq

(c) Allauddin Khilji (d) None of these

(9) Who was the Sultan who shifted the capital from Delhi to Devagiri ?

(a) Ferozshah Tughlaq (b) Balban

(c) Allauddin Khilji (d) Muhammad Tughlaq

(10) Who was the Sultan who built irrigation and canals for agriculture ?

(a) Ferozshah Tughlaq (b) Muhammad Ghori

(c) Altamas (d) Balban

(11) Which was the capital of Mewad State ?

(a) Delhi (b) Chittod

(c) Devagiri (d) Jodhpur

(12) Who founded the Bahamani Kingdom ?

(a) Altamas (b) Balban

(c) Hasan Gangu (d) Harihar-Bakka

(13) In which Battle did the Bahamani Empire defeat Vijaynagar kingdom ?

(a) Talikot (b) Tarain

(c) Devagiri (d) Kannauj

(14) Who was the founder of Mahanubhava Panth ?

(a) Tulsidas (b) Saint Kabir

(c) Chakradhar Swami (d) Basaveshwar

(15) Abhang of which Saint is found in Guru Granth Sahib ?

(a) Saint Dnyaneshwar (b) Saint Namdev

(c) Saint Janabai (d) Saint Surdas

(16) Which Sultan introduced copper coins ?

(a) Alauddin Khilji (b) Ferozshah Tughlaq

(c) Altamas (d) Muhammad Tughlaq

(17) Who was the Sultan who built the most infrastructure in Delhi ?

(a) Muhammad Tughlaq (b) Ferozshah Tughlaq

(c) Ibn Batuta (d) Altamas

LT—943 2 (Contd.)
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(18) Who wrote the book Tughlaqnama ?

(a) Amir Khusro (b) Nizamuddin Ahmad

(c) Khafi Khan (d) None of these

(19) Who created a library with 3000 books ?

(a) Ibn Batuta (b) Muhammad Gawan

(c) Altamas (d) Saint Kabir

(20) Who is the great Saint of Lingayat sect ?

(a) Guru Nanak (b) Saint Dnyaneshwar

(c) Mahatma Basaweshwar (d) None of these 20×1=20

2. Write the answers of the following questions :

(a) State the results of the invasion of Sindh by the Arabs. 3

(b) Write an account of Muhammad Ghazni's Somnath invasion. 3

(c) Give an account of Qutubuddin Aibak's achievements. 3

(d) Write the results of Muhammad Ghori's invasion on India. 3

OR

(e) Describe the Second Tarain War during the time of Muhammad Ghori. 3

(f) Describe the group of forty of Altamas. 3

(g) Explain the theory of kingship of Balban. 3

(h) Write the reasons for the failure of Razia Sultan. 3

3. Explain the market price control scheme in relation to Economic policy of Allauddin Khalji.
12

OR

Explain the various welfare reforms of Muhammad Tughlaq. 12

4. Write the answers of the following questions :

(a) Explain the achievement of Muhammad Gawan in the Bahamani Empire. 3

(b) Describe the achievement of King Krishnadevray. 3

(c) State the political reasons for the downfall of the Delhi Sultanate. 3

(d) Describe the social life in the Bahamani Empire. 3

OR

(e) Describe the social conditions in the Vijaynagar Empire. 3

(f) Give an account of the economic life in the Bahamani Empire. 3

(g) Explain the effect of the Battle of Talikot (1565). 3

(h) Write the reasons for the fall of Vijaynagar Empire. 3
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5. Write the answers of the following questions :

(a) Describe the Hindu society in the Sultanate. 3

(b) Give information about military administration in Sultanate. 3

(c) Explain the role of Ulema class in Sultanate. 3

(d) Explain the nature of the theory of kingship in Sultanate. 3

OR

(e) Give information about Muslim society in Sultanate. 3

(f) Describe the central administration in Sultanate. 3

(g) Explain the role of Sardar class in Sultanate. 3

(h) Explain the revenue policy of Sultanate. 3

6. Describe the development of the Bhakti movement in the Sultanate. 12

OR

Give information about the social status of women in the Sultanate. 12

LT—943 4 (Contd.)
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AD–4117

B.A. Part—I (Semester—II) (CBCS) Examination

(Optional Subject)

HISTORY

History of India from Early on 701 AD to 1525 AD

Time : Three Hours] [Maximum Marks : 80

¼ejkBh ek/;e½

lwpuk :— (1) loZ iz’u vko’;d vkgsr-

(2) 12 xq.kkaP;k fn?kksZÙkjh iz’ukaph mÙkjs lqekjs 600 ’kCnki;±r vlkohr-

(3) 3 xq.kkaP;k y?kqÙkjh iz’ukaph mÙkjs lqekjs 150 ’kCnki;±r vlkohr-

1. [kkyhy iz’ukaps ;ksX; i;kZ; fuoMk %—

(1) Hkkjrkr lqyrku’kkghph LFkkiuk dks.kR;k o"khZ >kyh \

¼v½ b-l- 701 ¼c½ b-l- 1206

¼d½ b-l- 1525 ¼M½ b-l- 1320

(2) fla/k izkarkoj Lokjh dj.kkjk vjckapk usrk dks.k gksrk \

¼v½ eksgaen chu dkfle ¼c½ egaen xtuh

¼d½ egaen ?kksjh ¼M½ egewn xoku

(3) vYc:uh gk izoklh dks.kk lkscr Hkkjrkr vkyk \

¼v½ dqrqcqíhu ,scd ¼c½ egaen ?kksjh

¼d½ egaen xtuh ¼M½ ;kiSdh ukgh

(4) b-l- 1191 P;k rjkbZuP;k ifgY;k ;q)kr dq.kkpk ijkHko >kyk \

¼v½ egaen ?kksjh ¼c½ dqrqcqíhu ,scd

¼d½ cYcu ¼M½ jft;k lqYrku

(5) dqrqcfeukjps cka/kdke iw.kZ dj.kkjk lqyrku dks.k \

¼v½ cYcu ¼c½ egaen xtuh

¼d½ egaen ?kksjh ¼M½ vYre’k

(6) e/;;qxhu Hkkjrkrhy ighyh eqLyhe L=h jkT;drhZ dks.k \

¼v½ jft;k lqyrku ¼c½ uqjtgk¡

¼d½ pk¡n chch ¼M½ ;kiSdh ukgh

(7) f[kyth lkezkT;kph LFkkiuk dks.kh dsyh \

¼v½ vykmíhu f[kyth ¼c½ tykyqíhu f[kyth

¼d½ fQjkst’kgk rq?kyd ¼M½ cYcu
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(8) cktkjewY; fu;a=.kkps /kksj.k dks.kR;k lqyrkukus ykxq dsys \

¼v½ egaen rq?kyd ¼c½ fQjkst’kgk rq?kyd

¼d½ vykmíhu f[kyth ¼M½ ;kiSdh ukgh

(9) fnYyh o:u nsofxjh ;sFks jkt/kkuh LFkykarjhr dj.kkjk lqyrku dks.k \

¼v½ fQjkst’kgk rq?kyd ¼c½ cYcu

¼d½ vykmíhu f[kyth ¼M½ egaen rq?kyd

(10) ’ksrhlkBh tyflapu o dkyO;kaph fufeZrh dj.kkjk lqyrku dks.k \

¼v½ fQjkst’kgk rq?kyd ¼c½ egaen ?kksjh

¼d½ vYre’k ¼M½ cYcu

(11) esokM jkT;kph jkt/kkuh dks.krh gksrh \

¼v½ fnYyh ¼c½ fpÙkksM

¼d½ nsofxjh ¼M½ tks/kiwj

(12) cgkeuh jkT;kph LFkkiuk dks.kh dsyh \

¼v½ vYre’k ¼c½ cYcu

¼d½ glu xaxw ¼M½ gfjgj o cqDdk

(13) cgkeuh lkezkT;kus fot;uxj lkezkT;kpk dks.kR;k y<kbZr ijkHko dsyk \

¼v½ rkyhdksV ¼c½ rjkbZu

¼d½ nsofxjh ¼M½ dUukst

(14) egkuqHkko iaFkkps laLFkkid dks.k gksrs \

¼v½ rqylhnkl ¼c½ lar dchj

¼d½ pØ/kj Lokeh ¼M½ clos’oj

(15) dks.kR;k larkps vHkax xq# xzaFklkgsc e/;s vk<Grkr \

¼v½ lar Kkus’oj ¼c½ lar ukenso

¼d½ lar tukckbZ ¼M½ lar lqjnkl

(16) dks.kR;k lqyrkukus rkaC;kph uk.kh pyukr vk.kyh \

¼v½ vykmíhu f[kyth ¼c½ fQjkst’kgk rq?kyd

¼d½ vYre’k ¼M½ egaen rq?kyd

(17) fnYyhyk lokZf/kd cka/kdke dj.kkjk lqyrku dks.k \

¼v½ egaen rq?kyd ¼c½ fQjkst’kgk rq?kyd

¼d½ bCu crqrk ¼M½ vYre’k
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(18) rq?kydukek gk xzaFk dks.kh fyghyk \

¼v½ vehj [kqljks ¼c½ futkeqíhu vgen

¼d½ [kkQh[kku ¼M½ ;kiSdh ukgh

(19) 3000 xzaFk vlysys xzaFkky; dq.kh r;kj dsys \

¼v½ bCu crqrk ¼c½ egaen xoku

¼d½ vYre’k ¼M½ lar dchj

(20) fyaxk;r laiznk;kps egku lar dks.krs \

¼v½ xq#ukud ¼c½ lar Kkus’oj

¼d½ egkRek clos’oj ¼M½ ;kiSdh ukgh 20×1=20

2. [kkyhy iz’ukaph mÙkjs fygk %—

¼v½ vjckaP;k fla/kojhy Lokjhps ifj.kke lkaxk- 3

¼c½ egaen xtuhP;k lkseukFk Lokjhpk o‘Ùkkar fygk- 3

¼d½ dqrqcqíhu ,sodkP;k dkefxjhph ekfgrh |k- 3

¼M½ egaen ?kksjhP;k Hkkjrkojhy Lokjhps ifj.kke fygk- 3

fdaok

¼b½ egaen ?kksjhP;k dkGrhy rjkbZuP;k nqlÚ;k ;q)kps o.kZu djk- 3

¼Q½ vYre’kP;k pkGhl x.kh xVkph ekfgrh |k- 3

¼x½ cYcupk jktinkpk fl)kar Li"V djk- 3

¼g½ jft;k lqYrkukP;k vi;’kkph dkj.ks fygk- 3

3. vykmíhu f[kythP;k vkfFkZd /kksj.kkP;k lanHkkZrhy cktkjewY; fu;a=.k ;kstusph ekfgrh |k- 12

fdaok

egaen chu rq?kydkP;k fofo/k vfHkuo iz;ksxkph ekfgrh |k- 12

4. [kkyhy iz’ukaph mÙkjs fygk %—

¼v½ cgkeuh lkezkT;krhy egaen tckuph dkefxjh Li"V djk- 3

¼c½ jktk Ñ".knsojk;kP;k dkefxjhps o.kZu djk- 3

¼d½ fnYyh lqyrku’kkghP;k irukph jktdh; dkj.ks lkaxk- 3

¼M½ cgkeuh lkezkT;krhy lkekftd thoukps o.kZu djk- 3

fdaok

¼b½ fot;uxj lkezkT;krhy lkekftd fLFkrhps o.kZu djk- 3

¼Q½ cgkeuh lkezkT;krhy vkfFkZd thoukph ekfgrh |k- 3

¼x½ rkyhdksVP;k (1565) y<kbZps ifj.kke Li"V djk- 3

¼g½ fot;uxj lkezkT;kP;k irukph dkj.ks fygk- 3
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5. [kkyhy iz’ukaph mÙkjs fygk %—

¼v½ lqyrku’kkghrhy fganq lektkps o.kZu djk- 3

¼c½ lqyrku’kkghrhy y"djh iz’kklukph ekfgrh |k- 3

¼d½ lqyrkuk’kkghrhy mysek oxkZph Hkwfedk Li"V djk- 3

¼M½ lqyrku’kkghrhy jktinkP;k fl)karkps Lo:i Li"V djk- 3

fdaok

¼b½ lqyrku’kkghrhy eqfLye lektkcíy ekfgrh |k- 3

¼Q½ lqyrku’kkghrhy dsanzh; iz’kklukps o.kZu djk- 3

¼x½ lqyrku’kkghrhy ljnkj oxkZph Hkwfedk Li"V djk- 3

¼g½ lqyrku’kkghrhy eglqy fo"k;d /kksj.k Li"V djk- 3

6. lqyrku’kkghrhy HkDrh pGoGhP;k fodklkps o.kZu djk- 12

fdaok

lqyrku’kkghrhy fL=;kaP;k lkekftd ntkZph ekfgrh |k- 12
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AD–4117

B.A. Part—I (Semester—II) (CBCS) Examination

(Optional Subject)

HISTORY

History of India from Early on 701 AD to 1525 AD

Time : Three Hours] [Maximum Marks : 80

¼fgUnh ek/;e½

lwpuk :— (1) lHkh iz’u vfuok;Z gSA

(2) 12 vadksa ds fn?kksZÙkjh iz’uksa dk mÙkj 600 ’kCnksa esa gksuk pkfg,A

(3) 3 vadksa ds y?kqÙkjh iz’uksa dk mÙkj 150 ’kCnksa esa gksuk pkfg,A

1. fuEufyf[kr iz’uksa ds ;ksX; mÙkj pqfu;s %—

(1) Hkkjr esa lYrur ’kklu dh LFkkiuk dc gqbZ \

¼v½ b-l- 701 ¼c½ b-l- 1206

¼d½ b-l- 1525 ¼M½ b-l- 1320

(2) fla/k izkar ij vkØe.k djusokyk vjc usrk dkSu Fkk \

¼v½ eksgacn&fcu&dkfle ¼c½ egewn xtuh

¼d½ egaen ?kksjh ¼M½ egewn xoku

(3) vYc:uh ;g vjc ;k=h fdlds lkFk Hkkjr esa vk;k Fkk \

¼v½ dqrqcqíhu ,scd ¼c½ egeqn ?kksjh

¼d½ egeqn xtuh ¼M½ buesa ls ugha

(4) b-l- 1191 ds rjkbZu ds izFke ;q) esa fdldk izHkko gqvk \

¼v½ egeqn ?kksjh ¼c½ dqrqcqíhu ,scd

¼d½ cYcu ¼M½ jft;k lqyrku

(5) dqrqcehukj dk fuekZ.k fdl lqyrku us iwjk fd;k \

¼v½ cYcu ¼c½ egeqn xtuh

¼d½ egeqn ?kksjh ¼M½ vYre’k

(6) e/;;qxhu Hkkjr dh igyh eqfLye L=h ’kkfldk dkSu Fkh \

¼v½ jft;k lqYrku ¼c½ uqjtgk¡

¼d½ pk¡n chch ¼M½ buesa ls ugha

(7) f[kyth lkezkT; dh LFkkiuk fdlus dh \

¼v½ vykmíhu f[kyth ¼c½ tykyqíhu f[kyth

¼d½ fQjkst’kgk rq?kyd ¼M½ cYcu
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(8) cktkjewY; fu;a=.k uhfr dks fdl lqyrku us ykxq fd;k \

¼v½ egeqn rq?kyd ¼c½ fQjkst’kgk rq?kyd

¼d½ vykmíhu f[kyth ¼M½ buesa ls ugha

(9) fnYyh ls nsofxjh esa jkt/kkuh ifjorZu djusokyk lqyrku dkSu \

¼v½ fQjkst’kgk rq?kyd ¼c½ cYcu

¼d½ vykmíhu f[kyth ¼M½ egeqn rq?kyd

(10) Ñf"k ds fy, tyflapu ,oa ugjksa dk fuekZ.k djusokyk lqyrku dkSu Fkk \

¼v½ fQjkst’kgk rq?kyd ¼c½ egeqn ?kksjh

¼d½ vYre’k ¼M½ cYcu

(11) esokM jkT; dh jkt/kkuh dkSulh Fkh \

¼v½ fnYyh ¼c½ fpÙkksM

¼d½ nsofxjh ¼M½ tks/kiwj

(12) cgkeuh jkT; dh LFkkiuk fdlus dh \

¼v½ vYre’k ¼c½ cYcu

¼d½ glu xaxq ¼M½ gfjgj o cqDd

(13) cgkeuh lkezkT; us fot;uxj lkezkT; dks fdl ;q) esa ijkftr fd;k \

¼v½ rkyhdksV ¼c½ rjkbZu

¼d½ nsofxjh ¼M½ dUukst

(14) egkuqHkko iaFk ds laLFkkid dkSu Fks \

¼v½ rqylhnkl ¼c½ lar dchj

¼d½ pØ/kj Lokeh ¼M½ clos’oj

(15) fdl lar ds vHkax ^xq# xzaFklkgsc* esa feyrs gS \

¼v½ lar Kkus’oj ¼c½ lar ukenso

¼d½ lar tukckbZ ¼M½ lar lqjnkl

(16) fdl lqyrku us rkacs dh eqnzk dks izpyu esa yk;k \

¼v½ vykmíhu f[kyth ¼c½ fQjkst’kgk rq?kyd

¼d½ vYre’k ¼M½ egeqn rq?kyd

(17) fnYyh esa lokZf/kd fuekZ.k dk;Z djusokyk lqyrku dkSu Fkk \

¼v½ egeqn rq?kyd ¼c½ fQjkst’kgk rq?kyd

¼d½ bCu crqrk ¼M½ vYre’k
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(18) rq?kydukek xzaFk fdlus fy[kk \

¼v½ vehj [kqljks ¼c½ futkeqíhu vgen

¼d½ [kkQh[kku ¼M½ buesa ls ugha

(19) 3000 xzaFkksa dk xzaFkky; fdlus rS;kj fd;k \

¼v½ bCu crqrk ¼c½ egaen xoku

¼d½ vYre’k ¼M½ lar dchj

(20) fyaxk;r laiznk; ds egku lar dkSu Fks \

¼v½ xq#ukud ¼c½ lar Kkus’oj

¼d½ egkRek clos’oj ¼M½ buesa ls ugha 20×1=20

2. fuEufyf[kr lokyksa ds tckc fyf[k;s %—

¼v½ vjcksa ds fla/k vkØe.k ds ifj.kke fy[kksA 3

¼c½ egeqn xtuh ds lkseukFk vkØe.k dh tkudkjh nksA 3

¼d½ dqrqcqíhu ,scd dh ;ksX;rk dk o.kZu djksA 3

¼M½ egeqn ?kksjh ds Hkkjr vkØe.k ds ifj.kke fy[kksA 3

vFkok

¼b½ egeqn ?kksjh ds le; ds rjkbZu ds f}rh; ;q) dk o.kZu djksA 3

¼Q½ vYre’k ds pkyhl x.kh xqV dh tkudkjh nksA 3

¼x½ cYcu ds jktin ds fl)kar dks Li"V djksA 3

¼g½ jft;k lqYrku dh vlQyrk ds dkj.k fy[kksA 3

3. vykmíhu f[kyth ds vkfFkZd uhfr ds lanHkZ esa cktkj ewY; fu;a=.k ;kstuk dh tkudkjh nksA 12

vFkok

egeqn&fcu rq?kyd ds fofo/k vfHkuo iz;ksxksa dh tkudkjh nhft;sA 12

4. fuEufyf[kr lokyksa ds tokc nhft;s %—

¼v½ cgkeuh lezkT; ds egeqn xoku dh ;ksX;rk fyf[k;sA 3

¼c½ jktk Ñ".knsojk; dh ;ksX;rk dk o.kZu djsaA 3

¼d½ fnYyh lqyrku ds iru ds jktdh; dkj.k fyf[k;sA 3

¼M½ cgkeuh lkezkT; ds lkekftd thou dk o.kZu djsaA 3

vFkok

¼b½ fot;uxj lkezkT; dh lkekftd fLFkfr dk o.kZu djsaA 3

¼Q½ cgkeuh lkezkT; dh vkfFkZd fLFkfr dk o.kZu djsaA 3

¼x½ rkyhdksV ;q) (1565) ds ifj.kke Li"V djsaA 3

¼g½ fot;uxj lkezkT; ds iru ds dkj.k fyf[k;sA 3
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5. fuEufyf[kr lokyksa ds tokc fyf[k;s %—

¼v½ lYrur dkyhu fganq lekt dk o.kZu dhft;sA 3

¼c½ lYrur dkyhu lSfud iz’kklu dh tkudkjh nksA 3

¼d½ lYrur dkyhu mysek oxZ dh Hkwfedk Li"V dhft;sA 3

¼M½ lYrur dkyhu jktin ds fl)kar dks Li"V dhft;sA 3

vFkok

¼b½ lYrur dkyhu eqfLye lekt dk o.kZu dhft;sA 3

¼Q½ lYrur dkyhu dsanzh; iz’kklu dk o.kZu dhft;sA 3

¼x½ lYrur dkyhu ljnkj oxZ dh Hkwfedk Li"V dhft;sA 3

¼g½ lYrur dkyhu jktLo O;oLFkk dk o.kZu dhft;sA 3

6. lYrur dkyhu HkfDr vkanksyu ds fodkl dk o.kZu djsaA 12

vFkok

lYrur dkyhu fL=;ksa dk lkekftd ntkZ Li"V dhft;sA 12


